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#1 70V AEABRE (P55 FEEH)
fl E B M PR T EEREE(Cn)  THEREREREE AR (%)

& b
RS54 T A21H 59 £ 0.25 36 £ 1.3 100
8H9H 7.5 £ 0.41 9.7 £ 1.6 99.8
9 H22H 1.5 + 0.20 3.1 = 4.1 99.0
10H28H 140 = 0.9 57.2 = 12.8 98.8
11A21H8 172 £ 1.1 119.0 +* 9.5 98.7
12A24H 180 £ 1.2 125.0 = 20.1 98.7
YRk 64 3 A20H 2.5 * 1.6 159.0 + 24.3 80.5
6 A24H 23.1 £ 3.1 219.0 * 62.5 75.0
(LR
9 H22H 23.8 = 3.2 230.0 * 63.2 75.0
8H9H 25.6 * 3.8 413.0 * 65.1 74.9
9 H22H 26.0 = 4.2 438.0 * ©66.6 74.9
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#2 70V AERBRER (FK 6 FE=ER)

UM TS LR+ EEREE (n) PIREFEREZE 0 EBER (%)

ik 647 A28H 54 * 0.25 25 * 1.3 100
9A6H 8.1 * 0.61 8.3 + 0.58 100
10A18H 9.4 = 0.80 147 £ 314 99.9
11A248 1.3 = 1.60 26.3 + 12.1 99.8
12A278 122 = 1.45 45.3 * 12.1 99.7
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